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	Part 2
	

	Questions 8-13
	
	

	You will hear a man called Toby Merchant talking on the radio about his job as an engineer with a company

	called Atkins Engineering.
	
	

	For each question, put a tick (/) in the correct box.
	
	

	8   When did Toby get a job with Atkins Engineering?        A
	when he was a university student
	□

	В
	as soon as he finished university
	□

	С
	six months after he finished university
	□

	9   What is Toby working on at the moment?                       A   
	a new motorway
	□

	В
	houses and flats
	□

	С
	a new airport
	□

	10 When Toby began working, he was surprised              A  
	talking to other people.
	□

	to spend so much time                                                   B            
	sitting in an office.
	□

	С
	designing buildings.
	□

	11 Young people often don't choose engineering              A  
	it's hard to get a job.
	□

	because they think                                                         B                  

	it's probably boring.
	□

	С
	it's not very well paid.
	□

	12 What is a disadvantage of the job for Toby?                  A   
	He finds it difficult to take holidays.
	□

	В
	He can't organise his spare time.
	□

	С
	He works too many hours.
	□

	13 When Toby was at school, what job did he                     A   
	a doctor
	□

	want to have?                                                                  B                     
	an architect
	□

	С
	an engineer
	□


